Med i pEAFupy eugn U0 FERS - SHN? L34 Fd

Tpp 2 B 647 ®m2 (=) Yikpg o 113# 41 21p Hx:D
I.  Vocabulary 75% (- 4& 3 4 ) Choose the best answer for each question.
1. __ Rootisused metaphoricallyto  the cause of a problematic situation.
(A) fetch (B) refer (C) appreciate (D) defeat
2. ___ Denotation, _ , does not include the feelings or ideas that people may associate with the word.
(A) assoonas (B) on the other hand (C) on the basis of (D) in relation to
3. Mexicowas forcedto  the peso due to her not-so-thriving economy.
(A) devalue (B) appreciate (C) offend (D) refuse
4. __ Molasses comes in about midway through the  process of turning raw sugar into refined sugar.
(A) refinement  (B) nostalgia (C) vicinity (D) neighborhood
5. Theworld  of the concert will be at the Royal Albert Hall in London.
(A) container (B) premiere (C) theater (D) consumption
6. ___ InSingapore, if you are a first-time __ (i.e. drug consumption), you will be imprisoned for one year.
(A) consideration (B) combination (C) offender (D) opinion
7. Anaccident involving over ten vehicleshas in the southbound lanes of Highway 2.
(A) made (B) embarked (C) retreated (D) occurred
8. ___ During World War |1 the Port of Belfast wasusedasa  port.
(A) shipping (B) fortress (C) force (D) naval
9. __ Thevideo about the celebrity went _ on the Internet.
(A) viral (B) evil (C) spinal (D) ill
10. __ Physical ageing may reveal a patient's history of illness, ~ or poor personal hygiene.
(A) malnutrition  (B) recreation  (C) reaction (D) nation
11. _ Astudy shows that neurological damage to the fetus results from severe iodine  during pregnancy.
(A) privacy (B) conspiracy (C) deficiency (D) efficiency
12. _ With the increase of disforestation, a lot of wildlife is deprived of its natural .
(A) volcano (B) mildew (C) habitat (D) earthquake
13. _ Newrampsare designedto  the entry of wheelchairs.
(A)bind (B) facilitate (C)found (D) snapshot
14, The of men to women at the press conference was ten to one.
(A) reason (B) ratio (C) token (D) relation
15. _ The impact of immigrants on the economy of the U.S. paved the way for the Internet companiesto _ in various aspects.
(A) thrive  (B) stroll ~ (C) roll (D) do
16. _ Many people wantto leavea  to the companies they have founded.
(A) detachment (B) legacy (C) case (D) legend
17. __ Asan advertisement company director, her jobisto  young talent.
(A) destroy (B) increase (C) emerge (D) nurture
18. _ Anydiet lacking the necessary nutrients requires an additional  of supplements.
(A) log (B) instance  (C) intake (D) lot
19.  Johnhastocutdownon  products because he has symptoms of lactose intolerance.
(A) sugary (B) dairy  (C) diary (D) sugar
20. _ Jack has never pickedupany inthe time he has been a truck driver.
(A) factory (B) hitchhikers (C) drug (D) traffic
21. _ The news report said that the victims had ~in the fumes.
(A) stolen  (B) carried (C) inflated (D) suffocated
22. __ ltisacommon practice that the use of company phonesis  to business calls only.
(A) confined (B) galloped (C)edited (D) interviewed
23. _ Marywasstarvingand she  her dinner up.
(A) barged (B) wobbled  (C) gobbled (D) galloped
24. _ Theappletree  numerous storms and the construction of railways and highways in its vicinity.
(A) lived (B) survived (C) gained (D) destroyed
25. ___ The newspaper gave an editorial  of the company’s performance of the past year.
(A) calories (B) appraisal (C) calculation (D) risk
[I.  Grammar 25% (= %8 5 4")
Complete the sentences with the correct form of words from the box.
\ die \ other \ start \ vary \ which
1. Steve Jobs, the chairman, chief executive officer (CEQO), and co-founder of Apple Inc., ~ of prostate cancer.
2. Unlike carnivorous animals, animals _ are omnivorous eat both plants and meat.
3. Some people think it is easy to be vegetarian.  do not think it is as easy as we thought it is.
4. Imagine the workplace = to swarm with examples of misused words.
5. Most languages make use of metaphor, but the way individual words are used ~ from language to language.
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